

$$4. \quad y = \underbrace{(x-2)^3}_P \underbrace{(x-4)}_Q$$

$$\textcircled{1} \quad P' = 3(x-2)^2 \cdot \frac{d}{dx}(x-2) \quad Q' = 1$$

$$P' = 3(x-2)^2$$

$$P'Q + PQ'$$

$$y' = 3(x-2)^2(x-4) + (x-2)^3(1)$$

$$y' = (x-2)^2 [3(x-4) + x-2]$$

$$y' = (x-2)^2 (3x-12+x-2)$$

$$y' = (x-2)^2 (4x-14)$$

$$= \underbrace{2(x-2)^2}_P \underbrace{(2x-7)}_Q$$

$$P' = 2(x-2)^1 \cdot \frac{d}{dx}(x-2) \quad Q' = 2$$

$$= 2(x-2)$$

$$P'Q + PQ'$$

$$y'' = 2 \left[\underbrace{2(x-2)(2x-7)} + \underbrace{(x-2)^2(2)} \right]$$

$$y'' = 2 \cdot 2(x-2) [2x-7+x-2]$$

$$y'' = 4(x-2)(3x-9)$$

$$y'' = 4 \cdot 3(x-2)(x-3)$$

$$y'' = \underline{12(x-2)(x-3)}$$

$$\textcircled{2} \quad 12(x-2)(x-3) = 0$$

$$x-2=0 \quad x-3=0$$

$$x=2 \quad x=3 \quad \text{c.v.s}$$

$\textcircled{3}$

	$x=0$	$x=2$	$x=3$	
TEST CASES	$x=0$	$x=\frac{5}{2}$	$x=4$	
PLUG INTO y''	$12(0-2)(0-3)$ $12(0-2)(0-3)$	$12(\frac{5}{2}-2)(\frac{5}{2}-3)$	$12(4-2)(4-3)$	
	+	-	+	
	∪	∩	∪	

$\textcircled{4}$

$$\frac{PoI}{x=2}$$

$$y = (x-2)^3(x-4)$$

$$= (2-2)^3(2-4)$$

$$= 0$$

$$\text{PoI} : (2, 0)$$

$$\frac{PoF}{x=3}$$

$$y = (x-2)^3(x-4)$$

$$y = (3-2)^3(3-4)$$

$$= 1(-1)$$

$$= -1$$

$$\text{PoF} : (3, -1)$$